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No. of Questions : 100
WYl Wi W& : 100
Time : 2 Hours Full Marks : 300
qOT ; 2. 902 guIfE : 300

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three} marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

stferamfte 7oAl ) 86 IR &1 WO ) wdHm WeT 3 (i) o w
Wik oI STV & [0 U 3k 12T TIET1 NAF SO S &
A=A, I B

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

Iz Tarifyes defcqd ST TR IR & e wdid &, 9 frepeam 98 3w
<

01. Which one of the following Act introduced Dyarchy in India ?

{1) Government of India Act, 1935

{2) Government of India Act, 1919

(3) Pitts India Act, 1784

(4) Regulating Act, 1773

frer | @ fope wep TR & g0 W A B9 9ITEs OUTel ey

=t 7

(1) AR GER ATfTEE, 1935
(2) HRA QLR Ay, 1919
(3} TUew wRg ifatem, 1784
(4) @S arfairE, 1773

3 P.T.O,
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02.

03.

04.

05.

Who amongst the following is not a Nobel Laureate ?

(1) Rabindra Nath Tagor (2) Amartya Sen

(3) V.S. Naipal (4) Salman Rushdi
frer & & 9 AT gEER 8 g T8 8 7

(1) &= 9/ 2349 (2} oFd |

(3) dou¥o ARURA 4) HAHTT 55L&
Which of the following is not correctly matched ?

(1} Raipur — Chhattisgarh (2) Mysor - Karnataka
(3) Bhubneshwar — Orissa (4} Ranchi - Jharkhand
Frer & @ =9 wdl gafsw w1t 8 °

(1) IEYR -~ BRGTE 2) ¥ - HAEH

(3) gaAwEAX - I (4) el ~ FRES

Who amongst the following is the author of the book-""My Experiments
with Truth" ?

(1} Maulana Azad (2) Bal gangadhar Tilak
(3) Mahatma Gandhi (4) Jawahar Lal Nehru
e & § e AT TaRARATE g gy A IRI @ JaRer 87
(1) WA TS (2) TR e

(3) W Tidt (4) STERI EE
Leander Paes is connected with which of the following sport ?
(1) Tennis (2} Billiards

{3) Table Tennis (4} Chess

feramet 09 7 & @ forg @@ 9 wftgua 8 ?

(1) g 2) gy

(3) 2w @) SIS
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06. The biggest planet is :

(1) Vinus (2} Mars (3). Mercury {4) Jupiter

T g7 AT ©

(1) 47 (2) w9 (3) "B (4) X
07. The largest producer of fertilizer is :

(1} Russia (2) China

(3} United State (4) Japan

TEETE E% 998 At g ©

(1) =a (2) == &

(3) ©gwR o9 H (4) <A o

08. Which of the following statement about India is not correct ?
(1) India is a parliamentary democracy
(2) India is a Union of State
(3) India is a Federal State
(4) India is a Secular State

frer § 9 39 97 HYF AT B Hed o g qEf B 7
(1) 9T Uk U5 dmad & (2) WG U% TSl @ | 8
(3) WA UF dHI T B (4) T U T U B

09. The term "Third World" refers to :
(1) Developed Countries
(2) Underdeveloped and developing countries
(3) Oil rich Countries
(4} Asian Countries

5 P.T.O.
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10.

11.

12,

grex el gfvar & e ¥

(1) Rrepfae At @

(2) frERtad T R 29 |
() &« @ oh A |

(4) ufsrr & 3 |/

Who amongst the following has written the book entitled "Wings of
Fire" ? _

(1) R.K, Laxaman {2) Khushvant Singh

{3) A.P.J. Abdul Kalam {4) Sardar Vallabh Bhai Patel

“RRY QIfR WY AT YEIE h oreeh e W | AR B 7
(1) 3o Ho TLHY 2) Q= fH e
(3) To o Fo sgd HAW (4] IR JEATWE UL

Which of the following country is the largest producer of fertilizer ?
{1) Russia (2) China (3) USA {4) Japan

Freg ¥ & @9 1 391 CERRRE @R & ey i Saved s
g7 |

(1) =« (2) = (3) Yo THo Wo (4) A

Which country is Parliament has the largest membership ?

(1) India (2) China

{3) Japan (4) United States

e %31 & o § gad oftes wewm B 7

(1) +=a 2) &= (3) S (4) EgH Uy
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14.

15,

16.

17,
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Which of the following country produces sugar mainly from sugar
beet ?

(1} India (2) Cuba (3} Germany (4) Braazil
Fre & ¥ B9 61 W JEmed § gl 8 O & ST aRa 8 7
(1) ¥R (2) g (3) SR {4) St
The major continents on the Earth surface :

(1) Six (2) Seven (3) Eight (4) Five

uRell oY gEg weEw ¥

(1) B (2) @& (3) oS (4) ot

The Universe is composed of :

(1) Earth (2) Earth and the Sun
{3} Earth, Fire and Air {4} Matter

FggHos Tfed B

(1) o & @ g o gd |

(3) O, o wd @ig & (4) e T @

Which country is going to host next Olympic Games in 2012 ?

(1) Germany (2) England (3} France (4) Australia
AT | RN ST ofalaw @9 2012 ¥ SWARKT HA S @ B ?
(1) s (2) ¥z (3) G (4) emezferar

Which one of the following is net a constitutional body ?
(1) Election Commission

(2) Finance Commission

{3) Planning Commission

(4) Comptroller and Auditor General of India

7 P.T.O.
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18.

19.

M= 7 Q 9 o dawieeg drew 8 ¥ 7

(1) AT AT
(2) Frer s
(3) T AT

(4) 9IRS B FEwe ud Fge-awrades

The Draft of the Preamble of the Constitution was proposed by :
(1) Rajendra Prasad | {2) Jawahar Lal Nehru
(3) Dr. B.R. Ambedkar (4) Sardar Vallabha Bhai Pate!

e 2 g S ey A9 G = e
(1) U= g9E & (2) STATETENS AEH BT
(3) Efo Mo Ao IFATHT BT (4) WK FFdAH g Ieq &

The President of India is elected indirectly by the electoral college
consisting of the elected members of ;-

{1) Only Lok Sabha

(2) Only Rajya Sabha -

(3) Lok Sabha and Rajya Sabha

(4) Lok Sabha, Rajya Sabha and State Legislative Assembly

e & Usgafd @ gera Frafes qosd Ry oTRersw g g,
o gawg 8 g |

(1) Hae &rep 99T

(2) FHaT T TG

(3) VF T T TS99 9

(4) & G, 09 GET gur oY e a9 9
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21.

22,

23.
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The minimum age required to become the Prime Minister of India is :
(1) 25 years (2) 30years {3} 35 years (4) 40 years
AR HN 99 HN Y & Fw gEew og ®

(1) 253% (2) 3034 (3) 35a4 (4) 40ad

The member of the Rajya Sabha are elected by :
(1} The People

(2} Lok Sabha

(3) Elected Member of Legislative Assembly
(4} Elected member of Legislative Council
o T & T gA I 8

(1) S{dAT &1

(2) WEH AT BT

(3) Rum 9w & ¥9 84 wedt & @

(4) Fgm qftvg & g9 g3 a5 & &

Who aimed to achieve a "Classless Society” ?
(1} Karl Marx (2) Hitler
(3) Churchill (4) Mahatma Gandhi

“Ffad aursT’ B WET @B BT U HIAT GrSaT or ?

(1) @I AR 2) e

(3) wferT (4) wewEr e

Who of the following p_ostulated “Total Revolution" ?

(1} Ram Manochar Lohia {2) Jai Prakash Narain '
{3) Acharya Narendar Dev {4) Gopal Krishna Gokhale

9 P.T.O.
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24.

25.

26.

e R @ aTHeT Reael dY ?
(1) = #9ET ey (2) TR AT
(3) rEd TR 2 (4) MU FOT TER

Who of the following is the present Chan‘man of Pubic Accounts
Committee ?

(1) Lal Krishna Advani (2} Arun Jaitly
(3) Murli Manchar Joshi {4) Sushma Swaraj
e 7 8 o A aen afafy o adae @ § 7
(1} W HOT ST (2) oTHIT ST
(3) HIN "AAEY Sh (4) I WIS

“Public Administration is cooperative group effort in public setting.”
The statement is associated with :

(1) Dimock (2) Nigro (3) White - (4) Dahl

‘IR URTEE Wik @9 H "eHi WE Y g 17 98 ®YUT e
g

(1) fewes @ (2) o &

(3) =wEE & | (4) =EE A

Which amongst the following is not an accepted view of public
Administration ?

{1) Traditional view (2) Historical view
(3) Integral view {4) Managerial view
frst § 4 @9 @ gemes @ O fEre wdt & 7
(1) qreafiEn (2) CRrEfaes

(3) webIH (4) vEEHE

10
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27. A Government consists of ;

28.

29.

(1) Legislative and Judiciary
{2) Judiciary and Executive
(3} Legislative and Executive
(4) Legislative, Executive and Judiciary
o e & ftufaa #
(1) Rrenfyer wd =aragisess
(2) TR T BRI
(3) frenfaesr ud AR
(4) Taafesr, swrfafems ud =g
The Indian Institute of Public Administration was set up at Delhi in
the year :
A e uanEe T Rl § wnfte gon, 99 -
(1} 1954 (2) 1968 (3) 1970 (4) 1980

Who amongst the following is not an early contribution to Public
Administration discipline ?

(1} Wilson (2) White(3) Simon = (4) Dimock

:ﬁasasm%mmﬁﬁmzmaﬂwﬁmqﬁm%?
(1) e+t (2) =T (3) GIHA (4) &9

Public Administration includes :

(1} Collection of revenue

(2} Maintainance of law and order
{3) Running of basic public services
(4} All the above

11 P.T.C.
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31.

32.

33.

A gaTET § wied ®

(1) ST Wb HEAT

(2) T OF G 9™ AT
(3) HAYT THAGISA] B AAE TEAT
() SR @t

Which of the following stage of relation of Public Administration as a
discipline is concered with Politics Administration dichotomy ?

(1) First (2) Second (3) Third (4) Fourth

A AT 79 & e & usrhifa-yemas Gasw g g
q qafee 8 7

(1) e (2) fad= (3) gdig (4) g
POSD CORB view of Public Administration is associated with :
(1) Dimock (2} Caiden

(3) Gulick (4) Willoughby

e HUET & ‘URS HE " ST & -
(1) el (2 A9 R&) Rern & (4) fa<isht 9§

Taylor was primarily :

(1} A doctor (2) An engineer
(3) A scientist {4) An economist
I JAST ¥ -

(1) TP 3@ A (2) TH AT &
(3) wH Asnis A (4) wH TdamEh &

12
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35.

36.

37.
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Who is the following has not contributed to Bureaucratic thought ?
(1) Weber (2] Marx (3} Merton (4) Simon

ﬁwﬁ‘ﬁfﬁmﬁaﬁmﬁﬁamﬁ%aﬁﬁm%?
(1) IR A (2) W A (3) WA A (4) \EF A

Which of the following is not a features of Public Administration ?
(1) Political direction (2} Promote social good

(3) Promote profit (4) Public accountability

for=1 § 9 =9 olleh YeA Al aey Wgl & 7
(1) Tsifees e 2) "HIfEE F=eE H qgE
(3) ST &/ FEAT (4) o I

Who amongst the following argued in favour of similarity between
Public and Private Administration ?

(1) Fayol (2) | White (3} Wilson (4} Nigro
Frg & & A7 i aur el gemast § SHSaT & qeEe ' 7
(1 ST (2) /R (3) FaeE= @)

Which of the following is not a features of Private Administration ?
(1} Profit Motive

{2) Public responsibility

(3] No unity of treatment

(4} Overall planning of the economy

frsy § @ 9 ol e & 9 JEf & 7
(1} 9 = I (2) e R
(3] HGER # U Ael (4) oTeiaEET H HT FEST

13 P.7.0.
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38,

39.

40.

41.

Which of the following University first started Post-graduate course
in Public Administration ?

(1) Osmania University {2) Rajasthan University
(3) Lucknow University (4) Punjab University

e | 9 Ty areafeme 3 @i g™ # I9TaE B 99d ued
AT Bpar ?

(1) Sgmtar Aeafenag (2) ToTeEne {qeataensd

(3) wEwS [avafaene™ 4) dene ReatiEreg

Which of the following is mot concerned with New Public
Administration :

{1} Relevance (2} Neutrality {3) Equality (4} Change

Prer & § frme T0 M w9Ted ¥ A% w6 B 7
(1) urEfErer () ey (3) §@EEdan {4y qiEds

Who amongst the following is not connected with New Public
Administration ?

(1) Waldo (2} Fredarikson
{3) Marini | (4) Caiden

M 3 FF T O 9aa P Hay Y g8t ® 7
(1) dr=t 2) wefeE

(3) =R {4) F2A

What of the following is true about New Public Administration ?
(1) It advocate value free Public Administration

(2) It believe in statusquo

{3) [tis client toward

(4) 1t does not believe in ethical value

14
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e & @ @i 989 i 9maT @ d9g § |98 & 7
(1) 98 ToI-Ead Wi 9MET # TR R ©
2) ue gu-feafr s R § g war B

(3) T8 WEH U FA IaT B

(4) s Afaw gt # fasary €t w@ar B

The first Minrowbrook conference was held in the year :

oo AU AT goT |, ay |
(1) 1968 (2) 1969 (3} 1970 (4) 1971

Who amongst the following is the main contribution to Ecological
approach to Public Administration ?

(1) Weber {2) Riggs {3) Simon {4) Waldo
qiRfafea Iurm # Fea § | e gge 9eeE 8 7
(1)  E8T # 2) g @

(3)  AEHA & 4y Sy

Which of the fcllowing is mot part of Riggs' model ?

(1) Overlapping (2) Formulism

(3) Homogeneity {4) Heterogeneity

P 7§ &9 g & gfiomr &1 ofr 98 2 7

(1) Tt (2) wigaw

(3) Tpw/UTH (4) Efererar

Hauthorn experiment are related to :

(1) Classical Theory {2) System Theory

(3} Scientific Management {4) Human Relation Theory

15 P.T.O.
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46.

47.

48.

49,

B 99T T e 8

(1) g s 9 (2) =Haem s 49

(3) asiveR T 9 (4} \rFE gy fHEra 9
Prismatic 'sala’ model was developed by :

(1) Peter Self (2) Waldo (3) Riggs (4) Michels
=g ‘ger uftme Resfba Brar e

(1) deX /% T (2) AT B

(3) & =™ (4) HEHE F)

The best exponent of Classical Administration Theory is ;

(1) Urwick (2) Follett (3). Gullick (4) Nigro
O Ui fasra & 999 SaH  SATednl €

(1) St (2) wide (3) Tfwn (4)

Who amongst the following has dismissed principle of organisation
as "myth" and "proverb" ?

(1) Taylor (2) Simon (3) Pfiffner (4} Riggs
T # @ o |1 & Rt & CTrear” o e’ @) G
F T

(1) @A 2) 9EFA A (3 e ¢4 g9
The term "general system theory" own its origin to :

(1) Weber (2) Fayol
(3) Ludwig Von Bernalauffy {4) Taylor

16
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‘g O e’ 9= $ 996 8
(1) a=X (2) A
(3) FEfa A IS H (4) X

Who amongst the following said that four 'P' on basis of organisation ?
(1) Gullick {2) White (3) Fayol (4} Dimock

7 & & fFE 9 AP & ST @ SR FHET 8 7
(1) Js T (2) |/EES A () B A (@) fes A

Which of the following type of Rationality was suggested by Simon ?

(1) Total Rationality (2) Partial Rationality

(3} Bounded Rationality {4) Irrationality

frr § @ e g & Rdwsliorar & gara ageT v ¥ 7
(1) gof Prdrepefiern (2) oifars frdrpsficra

(3) difter faamefiEr (4) SIfaEmfear

Who amongst the following is the author of the book entitled "Function
of the Executive” ?

(1) Taylor (2) Barnard (3) Fayol (4) Nigro

‘e ofTE ¥ afesmrgfea” e IR @ @ e 3 8 =
g7

(1) <& 2) &g (3) wA (4) el
Taylor was not in favour of :

(1} Rule of Thumb {2) Sharing of profit

(3) One best way (4} Increasing productivity

17 T,
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54.

S5.

56.

57.

ST ym H & e :
(1) o2 & o & (2) T F AR B
(3) UF "W YW1 T B (4) IARHN TEE B

Which one amongst the following variable was used in Hauthorn
experiments ?

(1) Air (2) Light (3) Heat (4) Money
Breiet war QB O U = SET § @ T ey ?
(1) EI'F{Tg (2) b1t (3y <9 4) 9+

Which of the following Article of the Constitution Votes Emergency
Powers to the President ?

Hiaur @ =1 7 @ B a1 orgeRs gy HY AR iR
U el § 7
(1) 350 (2) 351 (3) 352 (4) 349

Who amongst the following was the Chairman of the Flrst
Administrative Reforme Commission ?

(1) Gulzari Lal Nanda (2) Morarji Desai

(3) K. Hanumanthaiyya (4) K. Karuna Karan
Frss § @ B 9UH geaehia guIR AR S SAEE Ar 7
(1) TJETd AT A=l (2) MUEH 9

(3) FHo BRIV (4) WHo HEHOM HIWT

Which of the following is not the function of Planning Commission ?
(1) To formulate five year plan for the county

(2) To decide about plan priorities

(3) To advise States on planning

(4) To execute five year plan

18
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el § @ B Qo STERT B B WEE B 7
(1) o1 B fom deadta Aomnet # FEioT o
(2) FT FA ureriEeead frgifta &

(3) =T R N U geE 390

@) doadtg Feeel @ Eharaga s

Who amongst the following is not member of the National Development
Council ?

(1} Chief Minister (2) Central Cabinet Minister
(3) Experts from Planning Commission {4) Governor

=1 & @ & g R oiRae & "@eeg T8 § 7

(1) Tea=R (2) F=NT AT TR

(3) JISAT ST T ALTST (4) ITTIRA

Who amongst the following propounded the theory of Separation of
Power ?

(1) Mill {2) Montesquieue

(3} Laski (4) Diecey

fr # @ fpemr aifRrat & gueReor & R wfoarfRe e 2
(1) e 9 (2) wWRER

(3) @rEhl o (4) ®BIEE

Who amongst the following is the re-officio Chairman of Rajya Sabha?
(1) President (2} Dy. Chairman of Rajya Sabha
(3) Vice President (4) Prime Minister

19 P.T.O.
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61.

62.

63.

Frer & @ 9 To9 @9 B 9T gEy 7

(1) ey (2) TTEAT H I
(3) SurszaRy (4) SerEsy

Who of the following is associated with the "Rule of Law" ?

(1) Locke (2) Diecey

(3) White (4) Willoughby -

F A fF Rysm gg7” F o5 8 7

(1) o @ sEd (3 B (4) Pttt
All expenditure, out of the Consolidated Fund is provided in :
(1} Adhoc funds (2) Demand of Grants

{3) Excess Grant {4) Supplementary Grants
asft =, dua @iy @ Fos ofds & R - € -

(1) a==f Ffy (2) I AN

(3) &1 AT S (4) I &

In the Constitution of India, the Budget is known of :
(1) Annual Financial Statement

(2) Annual Budget Statement

(3) Annual Revenue Statement

{4) Annual Expenditure Statement

q B dfiys # goie S o ®
(1) =it fasiE e (2) Q¥ o1 ToeTeq
(3) afties ToT aeRTeA (4) ot =9 aFad

20
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The Court of Law can intervene in which of the following case ?

(1} Budget (2) Administration process
(3) Abuse of power (4) Power of removal

e d ooy Rafe § ~aey s598T $< 6l © ¢

(1) &= o (2) wemEtAs ufskar |

(3) T B gEUANT # (4) Trepras ot ek #

Who amongsf the following did mot contribute to Development
Administration ?

(1) Riggs (2) Weildner

(3) Montgomery (4) Caiden

frr % O TpEa e usnas 3 drEE 98 B 7
(1) =g 3 (2) faeeT =

(3) WMWY 9 4) HBT

Judges of Supreme Court can hold office upto :
(1} 60 years {2) 62years (3) 65years (4) 70 years

Hdtes ~IRne ® qrEreeT 399 Ug 97 99 @ e §
(1) 60a¥y dF (2) 62a5 d% (3) 65a94 TF (4) 709y o

The Human Relation Theory emphasis :

(1} The formal structure of the organisation
{2} Informal structure of the organization
(3) Over specialization

(4) Rule and regulation

21 P.T.O,



12P/284/4

68.

69.

70.

Hg Hey e a5 qar B

(1) €1 & Numisd d=T oF
{2) €129 B IFUAME HEAT W)
(3) SrfeiaRwstiRTer uT

4) Pl ud srfafadt a3

According to Max Weber Bureaucracy in the form of :

(1) Traditional authority (2) Political Authority
(3} Legal-rational authority (4) Charismatic authority
A A B AGER AfEdE wET §

(1) ICORETT AeERR h (2) Tl Wit @5

(3) Fftrer-fad=h wite &1 (4) =wER MR @

Which one of the following is neot an attribute of Weber bureaucracy?

(1} Hierarchy {2) Division of Works

(3} Impersonality {4) Personal basis

e & @ A R B ARG @ 0T AS 7

(1) dYgEa= 2) w fweE

(3) ST (4) =TT gesT
System approach in Public Administration is borrowed from :
{1) History (2) Politics

{3) Engineering (4) Economics

A g9 7 sawen SurH e @ B o
(1) sheE A (2) Wi &
(3) erlRmEiteER | (4) AT §

22
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Formal organization was given informal in the writing of :

(1) Human Relations (2) Classical Thoughts
{2}  Mec Human Relationship (4) Marx and Michels
shuefies wvemr aX aee Rar war @ det 7

(1) HFE &9 &5 (2) IR RERE &
(3) TU-HEE GEY B (4) AR T AIEREd &

An important advocate of Behavioural approach te Public
Administration is :

(1) Taylor (2) Gulick (3) Weber {4) Simon
qie geHT B FEAEEREY U B THE §HeE §

(1) | (2) TR (3) &I (4) wEEA
"Ecology of Public Administration” is written by :

(1} Weber (2} ‘John M. Gaus

{3) Riggs (4) Maslow

‘gt ol yfsep wsfafRas’ 3 dus B

(1} &L (2) ST Qo M

@) frg (4) A

Behavioural approach is the opposits of :
(1) Classical theory (2) Human Relation Theory
(3] Neo Human Relation Theory (4) Social Psychological Theory

AGETTEE] IUTPT & 3HeT ¥ ¢
(1) ueaEdl s (2) "™T &y s
(@ qU-HE e s (4) amReEe AdEnfAE faEr
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75.

76.

77.

78.

“Sala"is a:

(1) Spanish word (2) Italian word

(3) English word (4) Sanskrit word

‘T U

(1) =T AT @ 9= B (2) ZefTgsr T w U= ®
(3) SilSh WMy & A= B (4) TXHT W H/ TE

Who amongst the following has not contributed to the concept of
delegation ?

(1) Mooney (2) Follet {3) Terry (4) Wilson

1 d 9 pus gfafNaeT R o w ares 98t Rar &0
(1) 99 A (2) BRI (3 T A 4) Bees 9

Which of the following is not a form of Delegation ?

(1} Formal (2} Partial

(3) Personal (4) Conditional
fre # B i o o w8 ¥ 7

(1) SAo=nfs (2) b

(3) =R (4) @=Tw

Delegation is-needed not cause of :

{1) Division of authority {2) Size of the organization
{3) Personal ambition {(4) Volume of work
Pret & BROT SR @ otasamar T8 ¥ 7

(1) SRR &1 o= (2) HISH =H AEHR
(3) SAFRTI HETATRIET (4) = H A
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80.

81.

82.

12P/284/4

Essence of communication is ;
(1} Transnmitting information (2} Sharing coantidence

(3) Imparting knowledge {4) Sharing understanding
TENOT H 9T B

(1) YG=FET &1 99ReT 2) fasam F apierd

(3) 3 =T (4) 99 ® SR

The concept of Unity of connect is complementary to the principle of

{1) Span of control (2} Authority

(3) Scalar chain (4) Supervision
STRYT F THA YT 8, o= :

(1) =T @ ax (2) iR
(3) wEHOH (4) gdReror

Who amongst the following defined authority as "the rigtht to give
orders dear and the power to eract evidence ?

(1} Fayol (2) Millet (3) Barnard (4) Weber

foreg o @ forawr wifreme 1 aRwifta frar fBp e “smer 89 @
TR ooy Greq A @ R B

(1) BT A 2) FEed  (3) TR 9 (4) AFTH

The Chairman of which of the following Committee is generally from
the opposition parties ?

(1} Estimates Committees

(2) Committee on Public Undertaken
(3) Public Accounts Committee

(4) Committee on Assurance
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83.

84.

85.

86.

ﬁmﬁﬁﬁmaﬁﬁrwmmwﬁmﬁmﬁ@m%?
(1) Aras gl (2) WH ITT R
(3) N [Ey afuiy (4) oTYaTER wiafy

The Budget was formally introduced in India in the year :

ad H gerz reiE @ § o gow, ay ¢
(1} 1860 (2) 1947 (3) 1950 (4) 1868

Spoits system in USA began during the period of :
{1} Jeffarson (2) Washington
(3] Jackson {4) Adams

g 0o e # P # § frw usafy & o oww ¥ ge
FET JoTelt A g8 ?

(1) SAHTEA & (2) =fIFES %

(3) AT B (4) CTH B

Who has given the theory 'x' and theory 'y' of motivation ?

(1) Maslow (2} Likert

(3) McGregor (4) Harzberg

e & o frem oo @ fsra < o fera y Rar 8 ?
(1) A& A 2) s |

@) F=ER | (4) wote |/

Who amongst the following gave the concept of ‘Linking-pin" ?
(1} Simon {2} Fayol (3} Barnard {4) Likert
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88.

89.
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ﬁwﬁﬁ%&%_‘%ﬁﬁ—ﬁq’aﬁwﬁ%?
(1) s a9 (2) @« @3 s F (4} forend A

Formal Bureaucracy in India emerged in the year :

s # ofyenies arftrerlids &1 Iag gor fre av H -
(1) 1850 (2) 1854 {(3) 1918 (4} 1818

Which of the following is not true about plémning ?
(1} Itis a rational process (2) It reduces cost
(3) Itis not a managerial activity (4) It is looking ahead

Fre1 § 9 & FraioH & 9y # |98 7 B 7
(1) @8 O famyet kT 8 (2) I8 SR FH B
(3) Us uuHg frar T 2 (4) g8 M J@A @ e ¥

Which of the following is not true about Delegated Legislation?
(1) It save legislature time

(2} It is based on Montesquian Ideas

(3) It allows administration's scope for decisiocn-making

(4) 1t minimize partition political conflicts

faem o 9 @ e Rue 3 dEy 7 w8 @l § 7

(1) =z faufamr = 999 96T B

(2) TE AwevRy & fEmd u enufia ¥

(3) & Fofaa & g gt & 8 Y& iar 8

(4) g2 qHAWHT ST ITFTE H HA HLEAT &

27 P.T.O.
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90.

Balwant Rai Mehta Committee was a Committee on :
(1} Panchayati raj institutions

(2) Administration organization for rural sector

{3) Community Development Program

{4) Delegated legislations

Fera (@ el ik &
(1) q%rru-cﬁwwﬁw (2) TTOT &S A TSI TS G
(3) ETHEIER faehtd HRIEE 9¥ (4) TEEieH RAYF T |

91. Which one of the following is the basic territorial unit of administration

92.

93.

in Indian ?

(1} Revenue Division/Sub-division  (2) Tehsil/Mandal
(3) District/Jila (4) Village

frer & @ B9 wRa  vemad @ g g § 7

(1) IETE HoSH /STHUSH (2) dEd/AvSH

(3) U= /forem (4) =

Right to Constitutional Remedies in instruct in :

(1} Article 32 (2) Article 38

(3) Article 48 (4) Article 53
e Su9e @ AR fogr T B

(1) ory=% 32 7 (2) oT=RT 38 H
(3) org=dT 48 H (4) ar=R% 53 §
Which of the following is mot a mode of public control ?
(1} Election (2) Recall

(3) Pressure Group {4) Prohibition
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94.

935.

96.

12P/284/4

v & 9 B9 o Fgsor & [@ur wdF B 7
(1) g 2) a9d AT
(3) T YT (4) foser

Who of the following can disallow a question in Parliament during
question hour ?

(1) Speaker (2) Leader of the House
(3} President (4) Prime Minister
Frer & 9 B9 g § gag # g9 7y e awar g 7
(1) end (2) ®WeT W AT

(3) IeEufe (4) SurEEET

The Administration Reforms Commission recommended for the
establishment of the Lok Pal and Lok Ayukta in the year ;

Hmmﬁzﬁgwaﬂm%mwmmagwaﬁwwaﬁ
degf A ot ag

(1) 1966 2) 1968 = (3) 1971 (4] 1976

The Government of India may sue or may be sued by the name of :
(1} Hindustan {2) Bharat
(3) Union of India ' {4) Prime Minister

AR TR HEHeH! S el @ I ARG AR U YEEH
T I GHeT B

(1) fBg&m 9M uT (2 WG AH:- 9

(3) WIRT GFH dY B AW 9T (4) gurHE B oA )
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97. Who appoints the Committee on Public Undertaking ?

(1} Parliament. (2) Public Work Department
(3) Auditor General (4) President
e T wfffa H @ frgaa s g ?
(1) d&= (2) @ Frater s
(3) wererar uliseh (4) oy
98. Writ available against of executive officials is :
(1) Prohibition (2) Certiorari
(3} Mandarin {(4) Injunction
FEET ATl $ Ooe ofasr Soesr § 7
(1) Py 2) g
(3) TXHR (4) ek
99. The traditional budget is merely a document for :
{1) Profit end Loss {2) Loss
(3} Parliamentary Control (4) Foreign Control
| REREE S99 B9 U @ B
(1) w9 od e & 2y = &=
(3) dedra FEFer & (4) Ta=eht FE=or =

100.The tenure of ‘Comptroller and Auditor General of India is
(1) Fouryears (2) Fiveyears (3) Eightyears (4) Six years

ad & Mo wd Herden 93w @ HRw ©
(1) =) Ty 2) drwad (3 e ay (4) ®: ad
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10.

11.

12.
13.
14,

Regfaa & T
(3% YRAST & FaT AT 8 0T A7 FAC-07 & N g @

Foer Hef-Freht arel-arge 97 @ 8 )
Wg@mﬁaﬁ%wﬁm%mﬁ%éﬁwﬁﬁ%%%ﬁ{ﬁ
m@ﬁ%lmmwmmmwmwﬁmﬁmw
T % g s I wo)

Ve wa § fererer Wew 53-97 & A, fﬁ@mmﬁé%ﬁgﬁmw
¥ 3 @l

FAT-0F T @ 157 717 #1 38 7 @ M o 7 @ Frga &1 gw 39T-ux 787 R v
FaeT V-0 & & qedaT ey ar

ST ST T ST I A TUH S-S W A § Freifi e w el
FUT-UA & Fo¥ §%5 9¢ 47 @ I SgmAies (el v uv ford ey 4 7 g @

T FT &1 aﬁaﬁmaaﬂm gﬁmmmmﬁzmmaﬁam
o7 ford)

Fte Qo Ao wwaamasm YOTGIAET WE 7 42 e (4T #iF 7)) agr
Tgfasr qr SgEmAiE SR o W HRo uF wear &1 wiEfral § sufivte &1 sy
T8 8

Jugfw wfafEay & B o aftady war (e g afor g7 e sraer ag & argrent
WIT &1 XEhT WA AR
mgﬁw&mm%mmmﬁ#w@mm%éﬁm%m
3w} IAT-9F B AN G & TR 7 7R g9 F 9-09 S ¥Aw S 0T 7 W
fesn & a9 @ mar &0 B

TEIE T & I F A T g9 W Tl w1 G ¥ F 991 S Mer wW
W Al UF g9 & IO A W T I AT WA S

&7 § 15 dw e Wil g ST 3T wgen TE o waw #1 9 9 Fewdlt 9T &7 gar
781 &1 agd 3, b etk diew & e 54w awt g w wen By 81 99 W o g
& 52 smat
wmﬁ%mmm%g@%%mmwwaﬁtm%mw
& T W) -

T & I %aaaﬂqvmm-wqﬂwwﬁwaﬂii

T FE B R TeR TR e § e 9 F) eriy w8 el

afe e sredl wlen 7 srgf W R a8, @ v freafaed g0 fif
<T FEH, I BIWENTH
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